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Abstract. The hypothesis that the resettlement of a person after leaving Africa occurs 
for the second time is substantiated. The first resettlement ended 65,000 years ago with 
a military or genetic disaster and the self-destruction of mankind. 
 
   The history of the resettlement of mankind. 
   According to the data obtained by Professor Klesov (http://dna-academy.ru/wp-
content/uploads/10_2_2017.pdf), about 130-150 thousand years ago one, rather large 
human tribe came out of Africa. They crossed the Isthmus of Suez and moved to settle 
north, south, east. It is possible that in this era there were clashes with more ancient 
anthropoids, Neanderthals and the like. Crosses have occurred. There were 
extermination and genocides. A man who came out of Africa possessed a bow, arrows, 
and fire. Therefore, the surrounding wild world conquered and settled. The resettlement 
was due to an increase in the number of tribes, the development of new methods of 
hunting and farming, and internal conflicts. New tribes settled throughout Europe and 
Asia. 
   Scientists do not know which haplogroup was the first person to leave Africa. Perhaps 
this was not one haplogroup. Today, scientists are discussing something like this tree 
(Figure 1) http://dna-genealogy.ru/topic/75. We depicted it side by side in a horizontal 
position, in the form of a table (Figure 2): 

  
                            Figure 1.                                                    Figure 2. 
   Here, in Figure 2, the time axis is given above and below, BC. 
   The process of human settlement has a picture that is quite well-established in the 
scientific world. A mature person, outwardly close to modern, leaves Africa about 
135,000 years ago. And begins to settle on continents and islands. Resettlement takes 
place approximately 70,000 years. In this case, man evolves in terms of mental 
capabilities, civilization arises. But about 65,000 years ago, an unknown catastrophe 



occurs and humanity is practically dying. To date, only primitive haplogroup A, 
branching 85 thousand years ago, has been found in small quantities. The haplogroup 
also survived, which Klesov denotes with the Greek letter β. All modern mankind then 
branched off and multiplied from it. All these haplogroups date back to their common 
ancestor, Adam, who lived about 135,000 years ago. 
   According to Klesov, at around 65,000 years ago, some events happened that led to 
the extinction of 99.99% of humanity. What is the reason for global extinction at the turn 
of 65,000 years BC? Klyosov, as a serious scientist, does not engage in cheap political 
speculation. He suggests that perhaps this was due to a major eruption of the Toba 
volcano. It happened 70-75 thousand years ago. However, in our case, due to the 
seriousness of the threat, a more politicized assumption also makes sense. If you look 
at the chronological axis, the extinction occurred approximately in the middle (!) 
Between the exit of man from Africa and today. We know and remember that a person 
who came out of Africa 135,000 years ago was outwardly almost the same as today. 
That is, after leaving Africa, humanity had quite enough time to evolve mentally to the 
current level of civilization, create nuclear weapons, chemical, biological weapons (and 
other types of weapons), start a war and practically destroy themselves. Only a couple 
of semi-wild tribes survived in the region of Africa and in the region of India or 
Indonesia, that is, oddly enough, just near the Toba volcano. Which casts doubt on the 
version of the volcano and increases the likelihood of a military or other disaster. 
   For better clarity, we added speculative ancient haplogroups ♣, ♥, ♦, ♠ to our table. 
This is a branching of the very first α-haplogroup. The result is shown in Figure 3. These 
haplogroups settled for about 70,000 years. They mutated, branched, approximately as 
shown in the table below. We depicted them in approximately the same way as today's 
haplogroups in Figure 2. Only in Figure 2 the capital letters of the Latin alphabet were 
used, and in Figure 3, for ancient settlement, we additionally used small letters of the 
Latin alphabet. As a result of the global catastrophe, all the "small letters of the Latin 
alphabet" almost all died out. To date, only small branches of haplogroup ♣, ♥, ♦, ♠ 
haplogroup A have been found in small quantities (85 thousand years ago). The 
possibility of future detection of 1-2 other ancient haplogroups from α-settlement is not 
ruled out. So, this is how the picture of the “double” haplogroup resettlement looks 
hypothetically: 



 
Figure 3. 

   After global extinction, β-resettlement of the disaster surviving tribe began. The β 
branch also mutated, branched, multiplied. The β-branch gave the haplogroups B, C, D, 
E, F that exist today. The branch F gave rise to most of the other haplogroups known 
today. 
   Of course, there will be clarifications, changes and additions to this table. There will 
be surprises. But the basic skeleton of DNA genealogy already exists. Work with 
haplogroups is carried out in many countries, in many laboratories. 
   Geographically, the second β-settlement is approximately as follows 
(https://www.wikipedia.org/): 



 
Figure 4. 

   True, we have a slightly different opinion of how this resettlement took place. Our 
opinion will be presented in the next article. 
   The nuclear disaster version suggests the inevitability of a recurrence of such a 
disaster. Worse than that. Perhaps there were even earlier similar civilizations and 
disasters. For example, in the evolution of more ancient Neanderthals. Just traces of 
civilizations have not survived. And what can survive on Earth after 70,000 years ?! Is 
that stone idols on Easter Island. Or objects carved into stone, which are sometimes 
discussed in the media, but then for some reason these discussions cease. These are 
the stories for Hollywood. Humanity today is entering into a very serious, significant 
conflict between collectivism and individualism. The conflict also consists in the 
coexistence of biologically more progressive people (their minority) with the bulk of 
humanity. How to be? Where to evolve? On the path of solitary lions with prides of 
females or on the path of collective flocks of jackals? Or should each country choose its 
own path? And should it even evolve? The choice is not easy to make. And nobody 
knows him. As they did not know at the turn of 65,000 years BC. 
   Collectivism in our era is mainly concentrated on the places of residence of the 
haplogroups N and O, that is, in the north of Russia, in China and Southeast Asia. And 
individualism has established itself in the form of democracy in the United States and 
Western Europe. That is, the resettlement countries of haplogroup R1b. Partially in India 
and European countries the resettlement of haplogroup R1a. And just between these 
groupings of countries, a world nuclear conflict is brewing. In addition, there are 
religious circumstances. The countries of democracy are mainly countries of 
Christianity. Collectivism countries gravitate towards atheism. There are still countries of 
Islam. They have no certainty in the choice between collectivism and individualism. But 
the woman’s place is clearly and unequivocally defined: giving birth and no 
entertainment. 
   Here's what the current population pattern looks like © Dubinyansky: 

O + N 1 788 642 109 25,4% Mongoloids 

R1b + R1a 1 374 975 073 19,5 % Aryans 

 1 650 000 000 22,7% Muslims 

 2 419 000 000 33,0% Christians 

 468 736 000 7,0% Buddism 

 948 507 000 14,5% Induism 

Figure 5. 
   These are the main population groups that influence world politics. But of course, 
these groups influence politics only in peacetime. In the event of war, the leading role 



will be played by technologically advanced countries and peoples. That is, the 
Mongoloids (+ Russia?) Against the Aryans. 
   Serious work is needed on the structure of all mankind in order to reconcile everyone. 
To conflictlessly arrange different types of people in the structure of employment. And 
also in the power structures of states. As well as strict rules against possible injustice 
and against inciting hostility between the layers of mankind. We must not repeat the 
previous extinctions. 
   The question also arises: why evolve further? So we hopelessly broke away from the 
wild world. For what? Afraid of space aliens? Or a global volcanic eruption? Or should 
we be afraid of our earthly marginals? 
 
Addition. Another version of mass extinctions. 
   Everyone knows the experiment with mice. Unfortunately, there are so many videos 
on YouTube that we have not decided on the original source. When a small tribe of 
mice was placed on a large and well-organized territory, provided with all means. For 
several generations, mice proliferated and populated this territory. However, further 
deviations in behavior began, “blue” appeared, crazy people appeared, freaks, 
schizophrenics, etc. And after a while, the entire tribe of mice died out. It is possible that 
humanity can expect the same fate. Only in humanity, due to large numbers and 
territories, will the process take place slowly, on the order of thousands of years. 
Scientists interpret this mouse experiment in relation to "communism." However, for 
humanity this can happen in any social system. 
   Why are there so many freaks and morons in Russia? According to my personal 
observations, the number of birth defects in Russia is about 20%. According to official 
statistics, even more. Here is our hypothesis about the cause of a large number of 
deformities. If different peoples live without mixing with other peoples for 20-30 
thousand years, then their chromosomes “swim” or “flow” a little. That is, without a 
special external manifestation, these peoples undergo molecular changes of those body 
fragments that each chromosome builds. Which inside the people do not appear 
outwardly. The people are healthy and successfully live, multiply and overcome 
difficulties. However, when two evolutionarily distant peoples are mixed, chromosome 
mismatches appear. Micro-inconsistencies, at the molecular level. But leading to 
malformations of the phenotype. Such evolutionarily distant peoples in America, for 
example, are Europeans and American aborigines. Although not the farthest. There are 
many evolutionarily distant settlements; the most ancient haplogroups B, C, D. E, F are 
far removed from modern haplogroups R1a or R1b. But in Europe, all haplogroups have 
long been mixed up. But in Russia a unique situation has arisen. The Ugro-Yakuts from 
the north (haplogroup N) and the Slavs in the middle and from the south (haplogroup 
R1a) turned out to be such peoples in Russia. They were slightly mixed in antiquity and 
significant mixing occurred in the last millennium. The invasion of the Huns, then the 
Tatar-Mongols (actually the Tatar-Mordva), then the civil war of 1918-1920. The 
difference in the separation of the haplogroups N and R1a is approximately 40,000 
years. This is a lot! Chromosomes “sailed away”. It is not clear why Klesov, an 
authoritative scientist with a worldwide reputation, declares the Chukhon and Ugro-
Finnish peoples in Russia to be Slavs. Just because they learned to speak Slavic? 
Apparently, the reason previously mentioned. Reluctance to engage in political 
speculation. 
   Here are explanations of some common anomalies. 
1) Epilepsy. As a result of the mismatch of the chromosomes from the mother and 
father, some piece of the brain is not connected to other parts of the brain as expected. 
And when in the process of life the “cursor” of the brain runs into this area, the beats 



begin, the cursor cannot break out of the dead end. There are no necessary 
connections. A person lies and twitches until he faints and a reboot occurs. 
2) Congenital dislocation of the thigh, neck and other physical abnormalities. As a result 
of the inconsistency of the chromosomes that build the pelvic bones and legs, the 
shoulder girdle, the process goes wrong. 
3) In all probability, downs are the same reason. A mismatch in the chromosomes, 
abnormalities in the process of reproduction of germ cells, and an extra chromosome is 
found in the egg or sperm. 
4) Cancer. Again, the mismatch of chromosomes. A small portion of the chromosome is 
not connected where necessary. It did not work, and like a mine is waiting for its 
inclusion. Meanwhile, all organs are built without it. The organism lives. But once, with 
an external molecular influence, this unrealized piece of the chromosome is included in 
the construction of tissue. Which has already been built. The duplication of the body that 
already exists. Moreover, defective duplication, because as a rule, several 
chromosomes should participate in the construction of an organ. 
5) Schizophrenia. The same thing, the mismatch of brain regions due to the mismatch 
of chromosomes. Connections between brain regions are broken. 
6) This also includes strabismus, stuttering, and other birth defects. 
7) Now doctors are watching how all diseases are getting younger. This is not 
surprising, because more and more mixed marriages between evolutionarily distant 
haplogroups. Potential defects, chromosome mismatches, are spreading throughout 
humanity. And the inconsistencies of the chromosomes do not disappear anywhere, 
they do not become smaller. Because there is no natural selection. 
   And then we can expect that the growing wave of mixed marriages will entail a huge 
wave of deformities of the brain and body. Which will cause depression in society. 
Humanity will understand that it has no prospects. Which will lead to negative birth 
rates, panic, wars, madness and subsequent extinction. 
   It is necessary to study African or other herds of animals of the same species. Is there 
a confusion between them? How do different herds behave when meeting? Do they mix 
easily, or is there a war between leaders and herds? This is a very important issue. 
   And the last one. In Africa, on other continents, huge mixed herds of herbivores are 
observed. Bulls, zebras, giraffes, antelopes, elephants, rhinos graze together, walk on 
weight. But mixed individuals are never observed, from mating between zebras and 
antelopes, between bulls and rhinos, between elephants and giraffes. Nature rejects 
such a path. Nature creates barriers against such mating. Even artificially created 
hybrids between evolutionarily close horse and donkey, or mouse and rat, do not give a 
continuation. And other artificial mating does not continue. And people do not hesitate to 
enter into mixed marriages. Directing their own offspring to a standstill. 
 


